) L

Appendix no. 2
List of elements of

modular spiral stairs CARLA

o
Piotr Abram Robert Ciesla
(Written by) Checked by)
Revision 1.0, July 2020
TLC Sp. z 0.0. registered in: X|l Economic Department of the National TLC Sp.zo0.0. +48 505140140 NIP 525-23-48-828

Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868

(Approved by)

itosz Muzyka

(ot

Page 1 / 25

PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



) L

Table of changes

No.

NAME

DEPT

DATE OF
CHANGE

SCOPE OF CHANGE

REMARKS

10

11

12

13

14

15

TLC Sp. z o.0. registered in: Xl Economic Department of the National
Court Register, District Court in Cracow - Srddmiescie; fully paid-up
share capital in the amount of PLN 613 332,00 PLN.

TLC Sp.zo.0.
ul. Chopina 25 N,
38-300 Gorlice

+48 505 140 140 NIP 525-23-48-828
info@ticeu | ticeu KRS 0000245912
BDO 000014516 REGON 140313868

Page 2 / 25

PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



) L

Table of content

I 0T oY o Yo =T o | SR 4
2. Lists of elements of modular spiral stairs CARLA .........cccvvviieiee ittt e e eectrree e e e e e eesearrreeeeeeeeesennnns 5
3. Graphical presentation of list of CARLA system elements.........cccueeeviiiiiiiiiiiiieee s seee e 14
LN
@\
~—
o
)
Qo
©
[a '
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srddmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002

share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



) L

1. Components

The basic components of CARLA stairs are landings and a stairway with railings. The stairs
are available with a maximum height of 6000mm and a radius of 900, 1000, 1100mm. The structure
of the CARLA modular stairs system provides for the right and left versions of the stairs and the
installation of the upper landing in two configurations shown below. The stair system allows step
height adjustment in the range from 160mm to 200mm, the step height is determined at the
ordering stage.

e -
e
o
==
Figure 1. Landing with straight exit Figure 2. Landing with side exit
\
(]
[eY0]
©
[a
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srodmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002

share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



L LT =

2. Lists of elements of modular spiral stairs CARLA

Page 5 / 25

Table 1. Lists of elements of modular spiral stairs CARLA with straight exit
No. | Name Index Weight 23|45 6|7 |8|o|wo|1|2]13]14|15]16]17|18]19]| 20|21 |22|23|24|25|26|27|28[2930]31|32]|33|34]|35]36]37
1 | Centerpipe CRS C T T T T T O T T T T T T T T I AN IO N
2 | First railpost foot CR-AL T S S T T T T T T T T T S A A A AT AT A T A T AT A
g | Lemeingesnsele CR-A4/AS p%:1ir 2 1 T T T T T T T T T X T T T O T O T A A O S AR N S
right/left
Landing kickplate
4| ono CRK1 vies| 2222 2202021212121 2121212212|2|22 22 2212121212122 2]2]|2|2]|2]2
5 | Main landing R900 CR-Mla P17 N N N N NN T T T T T T T T T T T I I I O T T T T A A A RS O
6 ;gg'”gha”dg”p CR-PPla wo1r| 2222 22 2 2l2]2]212121212212|2|22 2121212 2]2]2]2121212]2]|2/2]2]/2
7 | SuplemenEs Ending | o ooy 07257 I 1 T T T T T T T T T T T T O T T A A O A AR N S
3 handgrip
€| 8 | StartingrailpostRI00 | CR-Rla -2 T T T T T N T T T T T T T I AN O O O A O A T A T A T S T A T A
9 | Railpost R900 CR-R2a 30990123 4|5|6|7|8|9|w|11|2|13]14|15|16|17|18]19]20]21]22]23|24]25(26|27]28]|29]|30]|31|32|33]|34]35
10 | StepR900 W-5-5P-900-KR-34x38 7653|123 ]4ls|6|7|8|9|10]|1]|12|13|14|15 16|17 18|19|20]21]22]23]24|25]|26]|27|28]29]30]31]|32|33|34]35]36
11 | Railpost clamp CR-A2 3009 | 1|23 45|67 |e|o|0]1r|2|13]14]15|16]|18]19]20 21| 22]23]24|25]|26]|27]28|29]30|31|32|33]|34]35]36]37
12 | Lastrailpostclamp | CR-A3 R A R R !
4 ;gg'”gkmkplate CRK2 1265 2 |22 2 22 2 2121212121212 12212|2|22 2 21212 2]2]2]2121212]2]|2/2]|2]/2
5 | MainlandingR1000 | CR-M1b 737 T 1 T T W T T T T T T T T T W T T T S S O A
6 Eiggg”gha”dg”p CR-PP1b pigo| 2222222 2121212121212 12212|2122 2212121212121 212121212]|2|2]|2]2
3 Suplementary landing
= . CR-PP2 R R R R !
= handgrip
8 :tlaoré‘(?gra'lpo“ CR-R1b Evicr: T S S T T T T T Y T T S A A A A AT AT T A T I I A
9 | Railpost R100O CR-R2b 4004 | 0| 1| 2|3 |45 |6|7|8|9o|wofir|2]|13]14|1s5|16]17]18|19]|20]20|22|23]|24]25]26|27]|28]29|30|31]|32](33]34]35
W-S-SP-1000-KR-
10 | Step R1000 st 8596 | 1234|567 |e|o|0]1r|2|13]14]15|1e]|17]18]19|20]|21]22]23 24| 25]26[27|28]|29|30]31|32]33]34]35]36
11 | Railpost clamp CR-A2 3009 | 2 (3| 4|5 |e|7]e|o|w0]1]12|13|1a]15]16|17|19]20]21 22| 23]24]25|26]|27|28]29|30]31|32[33|34|35]|36]37]38
4 ;i';g(')”gkmkplate CRK3 1402|2222 22 2 2121212121212 120212|2|22 2212121212121 2121212]2]|2/2]|2]2
o| 5 |MainlandingR1100 | CR-MLc < T 1 T T W T T T T T T T T W T T T S N N N
o
— N .
2| 6 Ej’;ggﬂgha”dg”p CR-PP1c 367|222 22212212 121212|21202 2122 212|202 2 2122 2]2|2]2|212]2|2]2]2
7 || SUREMEEIENETE || o oy 57%257 1 T 1 T T T T T T T T T T X T T T O T O T A A I S O AR N S
handgrip
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLCSp.zo.0. +48 505 140 140 NIP 525-23-48-828 PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina 25N, info@tic.eu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorfice  BDO 000014516 REGON140313868  SEK MILLENIUM BANK 831160 2202 0000 0002 9069 1529



EU

8?13{5‘(?%@'[‘)0“ CRRIc Ez:72 NS S T T T T T T T T T I S A A A AN AR O AR N T A T I I A
9 | Railpost R1100 CRR2C 4002|0123 4|5]|6|7|8|9o|w|1r|2|13|1a|1s|16|17|18]19]20]21]22]23]24]25(26]27]28]|29]|30]|31|32|33]|34]35
10 | StepR1100 \éﬁxségpfnoom 9381 1|23 |4 |5|6|7|8|9|w0|1r|12|13|14|15|16|17|18]19]20]21]22]23]24|25|26]|27|28]29]|30]31|32|33|34]35]36
11 | Railpost clamp CR-A2 399 | 23| 4|5|6|7]|8|9|10|1r|12|13|14|15|16|17|19|20]21]22]23]24]25]26]|27|28]29]30]31]32]33]|34]|35]|36]37]38
13 | Landingfirst railpost | CR-R3 AT T T T T T T T T T T S A A A A A A AT A T A T I A
14 | Landing railpost CR-R4 1405| 4 |a|alalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalalala
15 | Landing last railpost | CR-RS 2817 2 12012021212 2122222122121 21212121212]2121212]202|2|2|2|2121212]21]2
16 | Central pipe foot M-D-A-1A oorc:3 IS T T T T T T S O S A A A O A O A N A T I I A
* The weight of the column depends on the ordered variant of the stairs
Table 2. Lists of fasteners of modular spiral stairs CARLA with straight exit
No. | Name Index Weight | 2 | 34|56 |7 8|9|10]11|12|13]14]15|16]|17] 28| 29| 20| 20| 22| 23| 24| 25| 26|27 |28 |29 |30 |31 32|33 |34|35]|36]37
p || SR M-Z-W-SW-GR- 0002 |21 |22 (23|24 | 25|26 | 27| 28|29 |30 (313233 |34 |35|36| 37 | 38 | 30 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56
screw 4,2x16 4.2x16-ZN
B | Nutms M-ZN-5z2-8870 | 0053 |18 |21 |24|27|30(33|36|39|42|45]|48]|51|54|57|60|63| 68| 70| 74|77 |8 | 83|86 |8 |92]|095]|98]101]104]107]|110]113]116]119]122] 125
ol ¢ [washers M-Z-P-Z-8-Z0 0024 | 19 |24 |29 [ 34|39 | 44 | 49 | 54 | 59 | 64 | 69| 74 | 79| 84 | 89 | 94 | 101 | 106 | 111 | 116 | 121 | 126 | 131 | 136 | 141 | 146 | 151 | 156 | 161 | 166 | 171 | 176 | 181 | 186 | 191 | 196
o
D _7-S-S7- -8-
| p |BoltM8x55 ;/'OZSSZBXSSB 0004 | 15|16 |17 |18 |19 |20 |21 |22 | 23|24 | 25| 26| 27|28 |29 |30 | 31 | 32 | 33 | 34| 35 | 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
E g“WEdwaSher M-Z-P-F-8-A2 0013|1718 |19 |20 |21 | 22|23 | 24| 25| 26| 27| 28|29 |30 |31 |32| 33| 34|35 | 36|37 | 38|39 | 40| 41| 42|43 | 44|45 46|47 |48]|49|50]51]|5
F | Saddle washer | M-z-P-1-R033,7 0028 15|16 |17 | 18| 19|20 |21 | 22|23 |24 | 25| 26|27 |28 |29 |30| 31 | 32| 33| 34| 35|36 | 37|38 |39 | 40 | a1 | 42| 43| 44| 45| 46| 47 | 48 | 49 | 50
p || SEiElling TSGR 0002 | 24 [ 25|26 |27 |28 |29 |30 | 31|32 (33|34 | 35|36 |37 |38 |39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59
screw 4,2x16 4,2x16-ZN
B | Nutms M-ZN-57-8870 | 0053 |20 |23 |26 |29 (32| 35|38 |41|44|47|50]|53|56|59]|62|65| 70| 73| 76| 79| 8 | 85| 83| 91| 94|97 |100]103]106]109]|112]115]118]121[124] 127
o| C | washers M-Z-P-7-8-70 0024 |23 |28 (33|38 |43 |48|53|58|63|68|73|78]|83|88|93|98|105] 110115120 125|130 135 140 | 145 | 150 | 155 | 160 | 165 | 170 | 175 | 180 | 185 | 190 | 195 | 200
1S3
g M-Z-5-S7-8x55-8-
& b |BoltMsxss |0 0004 | 17|18 | 19| 20|21 |22 |23 | 24|25 |26 |27 | 28|29 |30 |31 32| 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52
E guwedwaSher M-Z-P-F-8-A2 0013|1920 |21 |22 23|24 (25|26 | 27|28 29|30 |31 |32|33 |34 |36 |38 |40 | 42| 44 | 46 | 48 | 50 | 52 | 54 | 56 | 58 | 60 | 62 | 64 | 66| 68 | 70 | 72 | 74
F | saddle washer | M-Z-P-1-R033,7 0028 |17 18|19 (20|21 |22 |23 | 24| 25|26 27| 28|29 |30 |31 |32 |33 | 34|35 | 36|37 |38 |39 |40 |41 |42 |43| 44|45 46|47 |48]|49|50]51]|5
p || SEtFCiling | NZERESIRER 0002 | 26 |27 |28 |29 |30 | 31|32 (33| 35|36 37|38 |39 |40 |41 |42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 | 61 | 62
screw 4,2x16 4,2x16-ZN
o| B |Nutms M-Z-N-SZ-8820 | 0053 |22 | 25|28 (31|34 |37|40|43|46|49|52|55|58|61|64|67| 72| 75|78 |81 |84 |87 |00 |93]96] 99 |102]105]108]111]114]117]120]123] 126 ] 129
o
—
1
2| ¢ |washers M-Z-P-Z-8-Z0 0,024 | 2530 | 35|40 | 45|50 | 55|60 |65|70]|75]80]85]90 |95 OO 109 | 114 | 119 | 124 | 129 | 134 | 139 | 144 | 149 | 154 | 159 | 164 | 169 | 174 | 179 | 184 | 189 | 194 | 199 | 204
M-Z-5-SZ-8x55-8-
D | BoltMexss | 0004 | 19|20 |21 2223 | 24| 25|26 | 27| 28| 29|30 |31 |32 |33 |34 | 35 | 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina 25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorfice  BDO 000014516 REGON140313868  SEK MILLENIUM BANK 831160 2202 0000 0002 9069 1529

Page 6 / 25



EU

guwed washer |\ b rga2 0013 |21 |22 (23|24 | 25|26 | 27| 28|29 |30 (313233 |34 |35|36| 37 | 38 | 30 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56
Saddle washer | M-Z-P-1-R033,7 0028 | 1920|2122 (23| 24| 25|26 | 27|28 29|30 |31 |32 |33 |34 |35 |36 |37 | 38|39 |40 | 41| 42| 43| 44 |45]|46 |47 | 48|49 |50]|50]5]5 |54
Washer
M-D-POOL 000|222 2121212121212 121212121212l212121212|212012 2121212122121 21212121:2
stalowa 12
E:gtlr;;p‘pe M-PVC-ZW-127 06105 1 T Y T T T T T S T O T A T I Y IO O S
Nut M10 M-zNsz1070 | o0003|8|s|e|s|s|s|s|8|8|s|s|s|s|s|s|s|s|s|s|s|s|s|c|8|s|s|s|s|s|c|s|s|sa|s]|s]s
iif’l\lﬂolczk'ng %LN’SZ'lZ’SH’ 027434 5|6 |7 |8|9|w0|1]12]13|14]|15|16|17 18|19 | 20| 21| 22|23 24| 25| 26|27 |28 |20|30|31]32]33|34]|35|36]37]3s
Nut M6 MzNsze8zN | oooo| 1 |1l a1
T;‘S“C washer | 7 p1.12 0001 1|2 |3|4|s|e|7|8|9|w|1]|12|13]|14|15|16] 17|18 19|20 21| 22|23 |24 25| 26| 27|28 |29 |30]|31]32]33]34]35]36
Washer 10 M-Z-P-Z-10-Z0 0,000 |16 |16|16|16|16|16|16| 16| 16| 16| 16| 16| 16| 16|16 |16| 16 | 16 | 16 | 16| 16 | 16 | 16| 16 | 16| 16 | 16| 16| 16| 16| 16| 16| 16| 16 16/ 16
Washer 12 M-Z-P-Z-12-20 0018|345 |6|7]8|9|w0]1]12]13|14|15|16|17 18|19 |20 | 21| 22|23 2425|2627 |28 |20|30|31]32]33|34]|35|36]37]3s8
Washer 6 M-Z-P-Z-6-ZN oeloc 3 T T T T T T O S T G N A T Y AN O S
m?mer e ;%Z’S’ML’HX%’ 0002|345 |6|7|8|9|w0|11]12]13|14]|15|16|17 18|19 |20 21| 22|23 24| 25| 26|27 |28 |20|30|31]32]33|34]|35|36]37]3s
Bolt M10x 30 !‘ZZ(;S'SZ"N“O' 0028|8|8|8|8|8|8|s|s|8|8|s8|s8|8|8|s8|8|8|8|8|s8|s8|s8|s|s8|s8|8|8|8|s]|s]|s]|s]|s|s]|s]s
M-Z-5-SZ-8x30-8-

BoltM8x30 | o 1,068 4 | 6|8 |10|12]14|16]18]20]22]24]26|28(30(32]34]| 38 |40 | 42|44 | 46|48 |50 |52 |54 |56|58|60|62|64]66|68|70]72]74]76
Bolt M8x 45 '\ZA(’)Z’S’SZ’MS’S’ 302 715 e T T T e T T e T O Y A 1 1 1 1 11|11 1]1]1 1] 1] 1] 1
Cemiegelzole || MZAsRe2s- o5 1 T T Y Y T T Y T T T T T T T O T N T A T Y IO O S
M6 x 25 7N

TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001

Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002

share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorfice  BDO 000014516 REGON140313868  SEK MILLENIUM BANK 831160 2202 0000 0002 9069 1529

Page 7 / 25



Table 3. Lists of elements of modular spiral stairs CARLA with side exit

EU

Page 8 / 25

No. [ Name Index Weight | 2 |3 |4 |5]|6 |7 101112 |13 |14 (15|16 |17 |18 (19 (20|21 |22 |23 |24 (25|26 |27 |28 |29 (30|31|32|33(34|35]|36]37
1 | Center pipe CR-S 111111 B I A A A T A A 1 A
2 | Firstrailpost foot CR-A1 3,764 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
3 | Landing console right/left CR-A4/A5 2817 (1| 1|11 f1]1 B I A s A T A A A I
4 | Landing kickplate R900 CR-K1 0,202 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
17 | Landing kickplate no.2 R900 CR-K4 0215( 1 | 1|1 |1 f1]1 1|1 (1111} frfrfrjr|ryrfrfryjr)rrfrfjr{r)rfrf{ryr]r|r|i1
5 | Main landing R900 CR-M1la 26444 1 (1| 1| 1|11 B I A s A T A A A O O A
18 | Landing extension R900 CR-M2a 131851 1 | 1 |1 |1 ]1]1 1|1 (1111} frfrfrjr|ryrfrfryjr)rrfrfjr{r)rfrf{ryr]r|r|i1
6 | Landing handgrip R900 CR-PP1a 0124 2 |2 |2 |2 |2]2 202122222 |2|2|2|(2|2|2|2|2|2|2|2|2|(2|2|2|2|2|2|2|2]|2
% 7 | Suplementary landing handgrip | CR-PP2 0280 1 |11 ]1]1]1 B A e A A 1 A A A
8 | Starting railpost R900 CR-R1a 0484 1 | 1|1 |1 1]1 B T A A A A A O O A I
9 | Railpost R900 CR-R2a 05060123 |4]5 819 |10|11 |12 (13|14 |15|16 |17 (18 (19|20 |21 |22 (23|24 (25|26 |27 (2829|3031 |32(33|34]35
10 | Step R900 W-S-SP-900-KR-34x38 0838 | 1| 2|3 |4 (5|6 9 10|11 |12 (13|14 |15|16 |17 |18 |19 (20|21 |22 |23 |24 |25|26|27 |28 |29|30|31|32|33[34|35]36
11 | Railpost clamp CR-A2 05071 |2]|3|4|5]|6 9 |10|11 |12 (13|14 |15|16|18 |19 |20 (21|22 |23 |24 |25|26|27|28|29|30|31|32|33|34|35]36]37
12 | Landing first railpost CR-A3 0,029 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
4 | Landing kickplate R1000 CR-K2 02231 |11 |1 f1]1 B T A A A A A O O A I
17 | Landing kickplate no.2 R1000 CR-K5 0235 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
5 | Main landing R1000 CR-M1b 32543 1 (1 |1|1]|1]|1 1|11z} frfrfrjr|ryrfrfryr)ryrfrfjr{r)rfrf{ryr]r|r|i1
18 | Landing extension R1000 CR-M2b 14793 (1 | 1|1 |1 (f1]1 B A s A A A A O O A I
=3 6 | Landing handgrip R1000 CR-PP1b 01322 |2 |2 |2|2]2 202|122 (2222|2222 |2|2|2|2|2|2|2(2|2|2|2|2|2|2|2]2
o
& 7 | Suplementary landing handgrip | CR-PP2 0280 1 |1 |1 |1 f1]1 1|1 frfxrfj1r |y frfrfrjr|ryrfrfrjr|rfrfrfrf{r)rfrfryr)r|rf1
8 | Starting railpost R1000 CR-R1b 0,487 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
9 | Railpost R1000 CR-R2b 05070 | 1|23 |4]5 8119|1011 |12 (13|14 |15|16 |17 (18 (19|20 |21 |22 (23|24 (25|26 |27 |28[29|30|31|32(33|34]35
10 [ Step R1000 W-S-SP-1000-KR-34x38 095|112 |3 |4|5]|6 9 |10|11 |12 |13 |14 |15|16 |17 |18 19|20 |21 |22 |23 |24 |25|26|27 28|29 (30|31 |32|33[34|35]36
11 | Railpost clamp CR-A2 05072 |3 |4 |5(6|7 101112 (13 (14| 15|16 |17 (19|20 |21 |22 (23 (24 |25|26|27 (28 29|30 |31[32(33(34|35|36]37](38
4 | Landing kickplate R1100 CR-K3 0243 (1 |1 |1 |1 1]1 B A s A A A A O O A I
I3 17 | Landing kickplate no.2 R1100 CR-Ké 0,256 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
=
& 5 | Mainlanding R1100 CR-M1c 37369 (1 (1| 1|1]|1]|1 1|1 (1111} frfrfrjr|ryrfrfryr)rrfrfjr{r)rfrfryr]r|1r|i1
18 | Landing extension R1100 CR-M2c 15916 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLCSp.zo.0. +48 505 140 140 NIP 525-23-48-828 PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina 25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

6 | Landing handgrip R1100 CR-PP1c 0151 | 2 | 222 2 2 222222222222 2 2|2 2222|2222 2|2|2|2|2|2]|2
7 | Suplementary landing handgrip | CR-PP2 012103 N N O T T T T T T T O A O S O B
8 | Starting railpost R1100 CR-R1c foXZ1:7=3 N N T T T T T T T T T T T T N A O B O B
9 | Railpost R1100 CR-R2c 0507 0| 1| 2|3 |4|5|6|7|8|9|w]|11]|12]|13|14|15|16|17|18|19|20|21|22|23]24|25] 26| 2728293031 |32(33(34]35
10 | Step R1100 W-S-SP-1100-KR-34x38 104 1234|567 |8|9|10|11|12]13]14]15]16]|17|18]19]| 2021|2223 |24|25|26|27|28]29|30{31(32]33|34]|35]|36
11 | Railpost clamp CR-A2 0507 | 2| 3|4 |5 |6 |7 |8|9of10]11]|12]|13]|14]|15|16|17|19|20 |21 |22 (23|24 |25]|26]27|28]29]|30]|31]32|33|34|35(36]|37]38
19 | Landing kickplate CR-KT7 (o015 1N TN T T T T T T T N A O S O B
13 | Landing first railpost CR-R3 foXCE 18 N T N T T T T T T T T T T s T T T T O A O B O O
14 | Landing railpost CR-R4 0072 4 | 4|4 |a|alalalalalalalalalalalalalalalalalalalalalalalalalalalalalalala
15 | Landing last railpost CR-R5 2500 | 3| 3|3 |3 3|33 |3[3|3(3|3|3|3]|3|3|3|3|3|3|3[3[3[3[3[3[3]3]3]|3|3|3|3|3|3]3
20 | Suplementary landing railing | CR-R6 foX=107: 15 N N T T T T T T T T T T N A O B O B
16 | Central pipe foot M-D-A-1A (0075 8 1N T T T T T T T T T T O O O I O B

* The weight of the column depends on the ordered variant of the stairs

Page 9 / 25

TLC Sp. z 0.0. registered in: XIl Economic Department of the National  TLCSp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

Table 4. Lists of fasteners of modular spiral stairs CARLA with side exit

No. Name Index Weight | 2 | 3|4 |5|6|7|8|9|10[11|12| 13| 14| 15|16 |17 |18 [ 19| 20 | 21 [ 22 |23 |24 | 25| 26 | 27 | 28 | 29 [ 30 | 31 | 32 [ 33 | 34 | 35 | 36 | 37
M-Z-N-57-8-8-
A Nut M8 - 0,003 | 18 |21 |24 |27|40|43|46|49|52|55|58 |61 |64 |67 | 70| 73| 76| 79|82 |85 8 | 91| 94|97 |100]103]106]|109]| 112|115 118|121 |124| 127|130 133
B Washer 8 M-Z-P-7-8-Z0 0,002 | 41 |46|51|56|61|66|71|76|81|86|91| 96 | 101|106 | 111|116 | 125|130 | 135|140 | 145 | 150 | 155 | 160 | 165 | 170 | 175 | 180 | 185 | 190 | 195 | 200 | 205 | 210 | 215 | 220
M-Z-S-SZ-8x55-
- C Bolt M8 x 55 e 0,001 | 17 |18 19|20 |21 |22 |23 |24 | 25|26 27| 28 | 29 | 30 | 31| 32|33 |34 |35 |36 |37 (38|39 |40 |41 |42 |43 | 44| 45| 46 |47 |48 |49 |50 |51 52
3 X
()]
= D Curved washer 8 M-Z-P-F-8-A2 0,001 | 19 2021|2223 (24| 25|26 |27 (28|29 | 30 | 31|32 (33| 34|35 |36 |37 |38 |39|40 |41 |42 |43 |44 | 45| 46| 47 | 48|49 |50 | 51 | 52| 53] 54
E Saddle washer M-Z-P-1-R033,7 | 0,002 | 17 | 18| 19|20 |21 (22|23 |24 | 25|26 |27 | 28 | 29 | 30 | 31 | 32 |33 |34 | 35|36 |37 |38 |39 |40 |41 | 42|43 |44 |45 | 46| 47| 48| 49|50 |51 |52
o | Selfdilingscrew | M-ZWSSWGR- | 000 | 3 | 54 | 95 [ 26 | 27| 28| 29|30 |31 |32 |33 | 34 | 35 | 36 | 37 | 38 | 30 |40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58
4,2x16 4,2x16-ZN
M-Z-N-57-8-8-
B Nut M8 iy 0,002 | 45 |50|55|60|65]|70|75(80|85|90| 95100 105|110 | 115|120 | 129 | 134 | 139 | 144 | 149 | 154 | 159 | 164 | 169 | 174 | 179 | 184 | 189 | 194 | 199 | 204 | 209 | 214 | 219 | 224
M-Z-S-SZ-8x55-
C Washer 8 20 0001 | 19 [20|21|22| 23| 24| 25|26 |27 28|29 30 | 31| 32|33 |34 (35|36 |37 (38|39 |40 |41 |42 |43 |44 | 45| 46| 47| 48|49 |50 | 51|52 |53]54
M-Z-S-SZ-8x55-
- D Bolt M8 x 55 0 0,001 | 21 |22|23|24|25|26|27|28[29|30|31| 32|33 |34 | 35|36 |37 |38 39|40 |41 | 42|43 |44 |45 |46 |47 | 48| 49|50 |51 |52 |53|54]|55]56
= L
o
& E Curved washer 8 M-Z-P-F-8-A2 0,002 | 19 20|21 |22[23|24| 25|26 |27 (28|29 | 30 | 31|32 (33|34 |35 |36 |37 |38 |39 |40 |41 |42 |43 |44 | 45| 46| 47| 48|49 |50 |51 | 52| 53] 54
F Saddle washer M-Z-P-1-R033,7 | 0,000 | 29 |30|31(32|33|34|35|36(37(38(39|40 |41 |42 |43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 | 61 | 62 | 63 | 64
Self-drilling screw M-Z-W-SW-GR-
F 4,216 4,2x16-ZN 0,003
M-Z-N-5Z-8-8-
A Nut M8 - 0,053 | 32 |35]|38| 1 |44]|47|50|53|56|59|62|65|68 | 71| 74| 77|82 |85 |88 | 91|94 97 |100]103|106|109 112|115 118|121 |124 | 127|130 133|136 139
B Washer 8 M-Z-P-Z-8-Z0 0,024 | 49 | 54|59 |64|69|74|79|84[89|94|99 104|109 114|119 | 124|129 | 134 | 139 | 144 | 149 | 154 | 159 | 164 | 169 | 174 | 179 | 184 | 189 | 194 | 199 | 204 | 209 | 214 | 219 | 224
M-Z-S-SZ-8x55-
- C Bolt M8 x 55 0 0,004 | 21 |22|23|24|25| 26|27 |28[29(30|31| 32|33 | 34| 35|36 |37 |38 39|40 |41 | 42|43 |44 |45 |46 | 47| 48| 49|50 |51 |52 |53|54]|55]56
o
—
& D Curved washer 8 M-Z-P-F-8-A2 0013 | 23 |24 25|26 |27 (28|29 |30[31(32|33|34|35|36 |37 (38|39 |40 |41 | 42|43 | 44|45 |46 |47 |48 |49 | 50|51 |52]|53|54]|55]|56]|57]58
E Saddle washer M-Z-P-1-R033,7 | 0,028 | 21 | 22|23 |24 |25|26|27|28(29(30 (31|32 |33 |34 |35|36 |37 |38 |39 |40 |41 |42 |43 |44 |45 |46 |47 | 48|49 |50 |51 |52 |53]|54]55 |56
o | Selfdilingscrew § M-Z-W-SW-GR- | 00 | 35 | 36 | 37 |38 |39 | 40| 41|42 |43 |44 |45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 | 61| 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
4,216 4,2x16-ZN
Hammebr bolt steel
G M-D-P001 0010 2 |22 222212222222 22|22 222222222 222222222
washer 12
H(ljze;tralp‘pecapM—P\/C-ZW-1270,001111111111111111111111111111111111111
I [ NutM10 '\ZA(')Z'N'SZ'N' 0,00388888888888888888888888888888888888{\8
]
Self-locking nut M-Z-N-SZ-12- 1
J 12 ) 0274 3 |4 |5|6| 7|89 |10f11|12)13] 14| 15|16 |17 |18 |19 |20 |21 | 22|23 |24 |25 |26 |27 |28 |29 |30 |31 |32]33|34]35]36]|37(N\P
-7-N-S7-6-8- ~
K | NutMe '\ZANZNSZM (0307010 N N T T T T T T T T O N O T W T T T W S O O A T e, S
L Plasticwasher 12 | M-Z-P-T-12 0001 1 | 2|3 |4|5|6|7|8|9|10]|11|12]|13|14|15]|16 |17 ] 18|19 |20 | 21|22 |23 | 24| 25|26 |27 |28]29]|30]|31]32]33]|34 35L_|6
-
M Washer 10 M-Z-P-Z-10-ZO 0000| 16 |16|16|16|16|16|16|16|16|16|16| 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 | 16 |
Q0
©
a
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina 25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorfice  BDO 000014516 REGON 140313868  SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529




EU

N Washer 12 M-Z-P-Z-12-Z0 0018 3 [4|5|6|7|8|9|1wof11|12]{13|14| 15|16 | 17| 18|19 |20 |21 |22 | 23| 24| 25| 26|27 |28 |29 |30 |31 |32]33|34|35]|36]|37]|38
0 | Washer6 M-Z-P-Z-6-ZN (03010 N Y T T A T T T Y N O Y A O T N S N S O O A A
M-Z-S-ML-
HammerboltM12 | o 0> 0002 3 |4|5|6|7|8|9|10|11|12]13| 14|15 |16 |17 |18 | 19|20 |21 |22 |23 |24 | 25| 26| 27| 28|29 |30 |31 |32]33|34]|35]36]|37]38
M-Z-S-SZ-
R Bolt M10 x 30 0,028 8 888 |8[8]|8((8]8|8]38 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
10x30-8-ZO
M-Z-S-SZ-8x30-
S Bolt M8 x 30 50 1,68 | 10 |12 |14 |16| 18|20 |22 |24 | 26|28 |30 | 32 | 34 | 36 | 38| 40 | 44 | 46 | 48 | 50 | 52 | 54 | 56 | 58 | 60 | 62 | 64 | 66 | 68 | 70 | 72 | 74 | 76 | 78 | 80 | 82
T | BoltM8x45 X’ZZC’)S’SZ’BX45’0,024111111111111111111111111111111111111
WgsmagEbOltMex '\ZA&Z'S'ZM'GXZS' 0R5 0 A T T N T W T N T T T T T T T T A A T IO S
[O)
Qo
©
a
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorfice  BDO 000014516 REGON 140313868  SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



Table 5. List of elements of grating cage

EU

No. Name Index Weight | 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
21 Door leaf D1a CR-Dla 48,2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
22 Door frame RDa CR-RDa 17,315 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
24 Door head GDa CR-GDa 4,707 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
25 Grating of cage la CR-Gla 12,836 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
26 Grating of cage 2a CR-G2a 11,805 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
27 Grating of cage 3a CR-G3a 10,774 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
§ 28 Grating of cage 4a CR-G4a 9,743 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
= 29 Grating of cage 5a CR-G5a 8,712 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
§ 30 Grating of cage 6a CR-G6a 7,681 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
= 31 Grating of cageTa CR-G7a 6,65 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
32 Grating of cage 8a CR-G8a 5619 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
33 Grating of cage 9a CR-G9a 4588 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
34 Grating of cage 10a CR-G10a 3,557 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
35 Grating of cage 11a CR-Gl1a 2,526 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
36 Grating of cage 12a CR-G12a 1495 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
21 Door leaf D1a CR-Dla 48,2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
22 Door frame RDa CR-RDa 17,315 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
24 Door head GDa CR-GDa 4,707 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
25 Grating of cage la CR-Gla 12,836 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
26 Grating of cage 2a CR-G2a 11,805 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
27 Grating of cage 3a CR-G3a 10,774 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
o 28 Grating of cage 4a CR-G4a 9,743 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
a 29 Grating of cage 5a CR-G5a 8712 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
& 30 Grating of cage 6a CR-G6a 7,681 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
31 Grating of cageTa CR-G7a 6,65 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
32 Grating of cage 8a CR-G8a 5,619 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
33 Grating of cage 9a CR-G9a 4,588 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
34 Grating of cage 10a CR-G10a 3,557 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
35 Grating of cage 11a CR-Glla 2,526 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
36 Grating of cage 12a CR-G12a 1,495 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
37 Door frame foot A6 CR-A6 0373 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
23 Suplementarny gratings CR-GU1 5904 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
38 Braket for grating L1 CR-L1 0,757 | 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33 33
39 Braket for grating L2 CR-L2 0,489 | 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
40 Upper braket for grating L4 CR-L4 0,397 | 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12
41 Door frame connecter A8 CR-A8 1,328 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
" Grating clamp 34x38; GL1+ AG/IiPI_R—UK— 0087 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
M10x50 + nut M10 +washer 10 ’
34x38
43 Door hinge M-D-Z-3 0,069 | 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina 25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529

Page 12 / 25



Table 6. List of fasterners for grating cage

EU

Nr. Nazwa Index Mass 14-37
L Plastic washer 12 M-Z-P-T-12 0,001 2
J Self locking nut M12 M-Z-N-S7-12-SH-70 0,004 2
P Hammer bolt M12 M-Z-S-ML-12x36-Z0 0,023 2
N Washer 12 M-Z-P-Z-12-7Z0 0,018 2
A Nut M8 M-Z-N-SZ-8-8-Z0 0,006 4
| Nut M10 M-Z-N-SZ-10-8-ZO 0,006 3
M Washer 10 M-Z-P-Z-10-ZO 0,004 5
B Washer 8 M-Z-P-7-8-70 0,002 10
S Bolt M8 x 30 M-Z-S-SZ-8x30-8-Z0 0,018 6
AA Carriage bolt M10 x 60 M-Z-S-ZM-10x60-ZN 0,05 3
AB Carriage bolt M8 x 55 M-Z-S-ZM-10x55-ZN 0,03 4
Table 6. List of elements of inner handgrip
No. | Name Index Weight 4 5 6 7 8 9 10 | 11 12 | 13 14 15 16 17 18 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 [ 34 | 35 | 36 | 37
44 E'fancig'zg CR-A6 0053 |4 |5 |6 |7 |8]o9 1010|1213 1415|1617 |18 |19]20| 20|22 [23|24|25 |26 |27 |28]|20 |30 |31]32]35|34]35]36]37
CR-PW1a 1 1 1 1 (1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
45 | Innerhandgripl | CR-PW1b 15
CR-PW1c
CR-PW2a 0 1 1 2 21 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 11 11 12 12 13 13 14 14 15 15 16 16 17
46 | Innerhandgrip2 | CR-PW2b 15
CR-PW2c
CR-PW3a 1 1 1 1 (1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
47 | Innerhandgrip3 | CR-PW3b 14
CR-PW3c
Plastic distance M-Z-P-1-
CB PS25x5,0x8,2/29 RO33.7 0,004 | 4 5 6 7 8|9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
-32 i
Self-drilling pan N-Z-W- 5 6 7 8 91 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38
F head screw SW-GR- 0,002
4,2x16-ZN 4.2x16-ZN
Self-drilling pan N-Z-W- 4 5 6 7 81 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
DB head screw SW-GR- 0,035
4,8x25-7N 4,8x25-ZN
EB Plasting cap M-PVC- 0018 2 2 2 2 21 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
33,7 77-33,7 i
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo.0. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529

Page 13 / 25



) L

3. Graphical presentation of list of CARLA system elements

Table 5. List of elements

SL/SP
.~
oy
=
CR-A1
P28
"
X
Mass: 3,764 kg
CR-A4 CR-A5
N -
219,43 219,43
Mass: 2,816 kg Mass: 2,816 kg

Page 14 / 25

TLC Sp. z o0.0. registered in: XIl Economic Department of the National ~ TLC Sp.zo.o. +48 505 140 140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



T

CR-K1
1000

Mass: 0,202 kg

CR-K2

Mass: 0,223 kg

CR-K3

Mass: 0,243 kg

CR-K4
1051,69

i__ -l

Mass: 1,246 kg

100

CR-K5
1151,69

- ¥

[ |
| \
—L

Mass: 1,365 kg

100

CR-K6
1251,69

_

Mass: 1,483 kg

100

CR-K7
259,35

100

Mass: 0,304 kg

Page 15 / 25

TLC Sp. z o0.0. registered in: XIl Economic Department of the National ~ TLC Sp.zo.o. +48 505 140 140 NIP 525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



CR-M1la

1008

Mass: 26,444 kg

CR-M1b

Mass: 32,543 kg

“TLC Sp. z 0.0. registered in: XIl Economic Department of the National
Court Register, District Court in Cracow - Srddmleécle;fullyvpald-up
share capital in the amount of PLN 613 332,00 PLN.

TLCSp.z0.0.

ul. Chopina 25 N,

38-300 Gorlice

+48 505 140 140
info@tic.eu | ticeu
BDO 000014516

NIP 525-23-48-828
KRS 0000245912
REGON 140313868

Page 16 / 25

PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



CR-M1c

1208

A

Mass: 37,369 kg

992,5

CR-M2a

Mass: 13,185

TLC Sp. z o.0. registered in: XII Economic Department of the National
Court Register, District Court in Cracow - Srodmiescie; fully paid-up
share capital in the amount of PLN 613 332,00 PLN.

TLCSp.zo.0.
ul. Chopina 25 N,
38-300 Gorlice

+48 505 140 140
info@tic.eu | ticeu
BDO 000014516

NIP 525-23-48-828
KRS 0000245912
REGON 140313868

Page 17 / 25

PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

CR-M2b

1069,71

|1oo|

259,35

Mass: 14,793 kg

ASO-M2c

| 100 |

1169,71

259,35

Mass: 15,916 kg
CR-PP1a

. 585,07 ‘
il
"y
&,7
Mass: 0,889 kg
CR-PP1b

685,07

-~ ‘ ‘
"y

™

sl

Mass: 1,046 kg

CR-PP1c
‘ 785,07 .
.- |
Y] [P =y
"
p= ~—
Mass: 1,202 kg
«—
Q
[e14]
©
o
TLC Sp. z 0.0. registered in: XIl E ic Department of the National  TLCSp.zo.0. +48 505 140 140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001

Court Register, District Court in Cracow - Srédmiescie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

CR-PP2
211

ﬁ;
—
@337

Mass: 0,294 kg
CR-R1a CR-R1b CR-R1c
384,68 . 01,24 393.,7

1277,37
12794
1278 ,48

Mass: 3,776 kg Mass: 3,810 kg Mass: 3,794 kg

Page 19 / 25

TLC Sp. z 0.0. registered in: X|l Economic Department of the National TLC Sp.zo0.0. +48 505140140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

Page 20 / 25

CR-R2a CR-R2b CR-R2c
68,7 71,34 370,24
— ] | |
|_1‘ |_l.' [
— "y
— - F\'\‘
- N oy
oy e oy
-9 ol
Py "y ::.
Mass: 3,303 kg Mass: 3,308 kg Mass: 3,306 kg
TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo0.0. +48 505140140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529

share capital in the amount of PLN 613 332,00 PLN.



EU

CR-R3 CR-R4
237,85 262
wy
‘b‘ =)
-~— =
~ o~
~ -
Mass: 2,713 kg Mass: 2,587 kg
CR-R5 CR-R6
254,85 233,7
= 2
\m" ‘-\
— ~
o~ ~
1

Mass: 2,540 kg

Mass: 4,486 kg

TLC Sp. z 0.0. registered in: X|l Economic Department of the National
Court Register, District Court in Cracow - Srédmieécie; fully paid-up
share capital in the amount of PLN 613 332,00 PLN.

TLC Sp.zo0.0.
ul. Chopina 25 N,
38-300 Gorlice

+48 505 140 140

info@tic.eu | ticeu
BDO 000014516

NIP 525-23-48-828
KRS 0000245912
REGON 140313868

Page 21 / 25

PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



) L

W-S-SP-900-KR-34x38

807,62
ENE
> AEEm
Wi sammnc===amsanmEEN
= D NE p< <]
"ﬁ’qg mEEN
J AN

Mass: 7,653 kg
W-S-SP-1000-KR-34x38

907,62

N
I
JACI LA IC

LA IO
LI ICIC I

AL

I

405,21

u
NEEENEE
EN

000
i

:
ila

M LN
LI

N
D]

Mass: 8,596 kg
W-S-SP-1100-KR-34x38

1007,62

398,75

LA L

Mass: 9,381 kg
CR-A2

CR-A3
110,35
135

45,35
45,35

4l

i S

Mass: 0,274 kg

Mass: 0,215 kg

Page 22 / 25

TLC Sp. z o0.0. registered in: XIl Economic Department of the National ~ TLC Sp.zo.o. +48 505 140 140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

CR-Dl1a CR-D1b CR-D1c
f" 925 . 1025 ' - 1125 s
. r 1]
S
- o -
<> < <>
~ o~ ~
il
|
X ¥ R
Mass: 48,2 kg Mass: 51,5 kg Mass: 54,8 kg
CR-RD1a CR-RD1b CR-RD1c
L 892 I+ 992 L - 1092 N
\ - _
v w n
o o o
iy ~ ~
~ ~ o~
1 N 1
Mass: 16,98 kg Mass: 17,64 kg Mass: 18,3 kg
@\
\
)
Qo
@©
a
TLC Sp. z 0.0. registered in: XIl Economic Department of the National  TLCSp.zoo. ~ +48505140140  NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - $rédmieécie; fully paid-up  ul.Chopina25N,  info@tic.eu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice  BDO 000014516 REGON 140313868  SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



) L

CR-GDla CR-GD1b U CR-GDLC
. 783,99 . . ' ‘ ‘ 963,48 .
—F | ; ji - .
|~ | — W~
o | &N o | N N o N
m | ™ ~ | m m ™
E - p i -
Mass: 4,43 kg Mass: 4,97 kg Mass: 5,52 kg
M-D-Z-3 CR-A8 CR-A6
, 123 N 1
99,5
— H Cal
N =]
L=y
w©
= o~
wy
5]
. & =]
Mass: 0,54 kg Mass: 1,87 kg Mass: 0,37 kg
CR-L1 CR-L.2 CR-14
=
py
< -
() ~
" 17
-
186,21
o
136,57
1
Mass: 0,75 kg Mass: 0,49 kg Mass: 0,39 kg
CR-GU1 R900: CR-G_a - [=373,3 M-KR-UK-G11-34x38
R1000, R1100: CR-G_b - 1=368,7
FEEE CR-G1:1=2490
e L CR-G2: L=2490-Hs
E§§ CR-G3: L=2490-(2"Hs)
§§~, o CR-G4: L=2490-(3*Hs)
552 CR-G5: L=2490-(4"Hs)
;;1; CR-G6: 1=2490-(5"Hs)
Hi CR-G7: L=2490-(6"Hs) 4
Hit T CR-G8: L=2490-(7"Hs)
;}E EecdlEces CR-GY: L=2490-(8"Hs)
| [HH HEHH CR-G10: L=2490-(9"Hs)
2| [EH T CR-G11: L=2490-(10"Hs) ~
~ EQE. T CR-G12: 1=2490-(11"Hs) n
ig“ sanaiinass BEES '
I =s
'Ill | bt
HiH H
HE ik
i i
HH HrHi LN
i . N
;g& ¢ ~
i f <t
- @\
Mass: 5,9kg Mass: 0,1kg 1)
a0
©
o
TLC Sp. z 0.0. registered in: X|l Economic Department of the National TLC Sp.zo0.0. +48 505140140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



EU

CR-PW2a/b/c

CR-GU1 CR-PW1a/b/c
55,19
—
wy
o
o
[
R
Mass: 0,05 kg Mass: 1,4 kg Mass: 1,2 kg

CR-PW3a/b/c

Mass: 1,1 kg

Page 25 / 25

TLC Sp. z o.0. registered in: Xl Economic Department of the National TLC Sp.zo0.0. +48 505 140 140 NIP525-23-48-828  PL BNP PARIBAS 16 1600 1462 1817 5044 2000 0001
Court Register, District Court in Cracow - Srédmieécie; fully paid-up ul.Chopina25N, info@ticeu | ticeu KRS 0000245912 EUR BNP PARIBAS 86 1600 1462 1817 5044 2000 0002
share capital in the amount of PLN 613 332,00 PLN. 38-300 Gorlice BDO 000014516 REGON 140313868 SEK MILLENIUM BANK 83 1160 2202 0000 0002 9069 1529



